
Condensateurs céramique
C 3 - 9 - 10 = 10nF
C 8 = 3,3pF
C 10 = 1nF
C 11 = 50nF

Condensateurs plastique
C1 - 2 - 4 - 5 = 10nF

Condensateurs tantale
C 6 - 7 = 1uF - 35V

C.I.
Z 1 - 2 - 3 - 4 = CA3086
Z5 = LM301

Transistor
Q 1 = 2N5459

Résistances
R 1 - 3 - 4 = 470
R 2 = 3,9K
R 5 - 6 - 10 - 11 = 1K - 1%
R 7 = 820
R 8 - 12 = 4,53K - 1%
R 9 - 14 = 15K
R 13 = 330K - 1%
R 15 = 330K
R 16 = 150K
R 17 = 1,8K
R 18 = 150K - 1%
R 19 = 1,87K - 3500ppm
R 20 - 21 = 56K
R 22 = 1,87K - 1%
R 24 - 25  = 787K - 1%
R 26 - 27 = 10,7K - 1%
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